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Please explain the 50% probability of making a Treasury payment as described in this sentence.  E.g. is this a combined probability of making each Treasury payment on time and in full for all of the remaining fiscal years in the rate period?

Please explain your answer and provide all relevant documentation and analyses, including email and other correspondence.

Response:

The 50% three-year TPP is defined as the probability that BPA would be able to make all of its Treasury payments within the three-year period on time and in full.  In our probabilistic modeling, any one failure to make a payment would count as a failure; successes are only those games in which every payment is made on time and in full.

